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I a. Explain evolution of storage arch*gw;ith neat diaglam-*::th * (08 Marks)

b. Diicuss tfre i[y ctraracterilticsgfffi centre, with neat *iffi ' (08 Marks)
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10 a. Explain ,urio, *hgt intastructure3:l*t-tnt activities' 
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rotocol? Effiffi ffi. popof, interface"prbtocols used for host to storage

b. Explaint*o Aiff..rotffibfi of intelligent storageryffiems. (O8Marks)
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3 a. Explain Fibrc Jffisrel protocol.tuttlr:@-diagran (08 Marks)

b. What * :gqr.}.$ 
elrpftit its types' * '" 

(08 Marks)
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* o -&.W" (08 Marks)4 a. What isFCIP? Explain FCIP pr*ryol stack' s ;1 "

b. What is NAS? Uxitain its con;po$nts with neat ffi;$6 *k, (08 Marks)
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5 a. Explain any two u*nffi.A$obgies n-Th-361rgam. "\ d (08 Marks)

b. Discuss nultu o.apphr;fd imilement"t*, f3 -*. e (08 Marks)
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6 a. Give differenfiisas of local 
'eprca*ff 

F "i ;? (08 Marks)

b. Explain *dd;" ;filication tttffirJfrtt' -.5p (08 Marks)
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{ *\" * }' he Module-4 * '"
M--l - " :^ :*- ^r.-T^-afo-1;i. t08 Marks)7 a' whqt.is'cloud comput$#'dfut its characteriffCs'

b. 'E5flain differerrt cloud *sq*ilvrce 
models' ' \ (08 Marks)
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8 a.*" Explain tft,e5,*\$J atprov*t+.ftw&rt' g:ilIl3
b. Discuss clou{bhallenges' .l;*\

$ *o''*ou.rr"-,
d{q ,:-- 

- 

(0g Marks)g a. Explain storage securiq@fuins'
b. Exptain u*ioi, securi$$eat*.t of tfud environment' (08 Marks)

b. Eiplain infor@dn lifecycle management'
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